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(Part - A)

Time : 1 Hour 15 Minutes| [Maximum Marks : 50

Instructions :

1) There are 50 objective type (M.C.Q) questions in Part - A and all questions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the circle @ of
the correct answer with ball-pen.

t 5) SetNo. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

1) It was some days before Colin Howard and his wife noticed that Marcus
was
(A) avoiding his work (B) to be smarter and intelligent
(C) only partly deaf (D) eagerly waiting for butcher

2) Jim Bishop’s day dream came true when

(A) his father purchased diamond earrings for his mother
(B) he bought a house on the sea-beach

(C) his book became a best seller in 16 countries

(D) the servants carried silver trays loaded with jelly beans and bars of
chocolates
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3) Every year she renewed the pawn ticket. (Change the voice. Select the correct
form). '

(A) The pawh ticket was renewed by her every year
(B) The pawn ticket was being renewed by her every year
(C) The pawn ticket had been renewed by her every year

(D) The pawn ticket is renewed by her every year

4) Who is singing softly in the dusk for the poet in the poem ‘Piano’?
(A) A musician
B) A girl
(C) The poet’s mother
(D) ‘A woman

5) Sosow it is vain for the singer to burst into clamour. (Select the correct meaning
for the underlined word).

(A) Rhythm

(B) Musical term
(C) Musical concert
(D) Loud noise

6) “You are fit and fine”. Who said these words to whom?
(A) The doctor said to Marcus
(B) The doctor said to the sheep
(C) The doctor said to Jerome K. Jerome
(D) The doctor said to Miko

7) Select the correct compound sentence from the given options.
(A) When you go home, change the position of your bed
(B) After going home, change the position of your bed
(C) Go home and change the position of your bed

(D) Go home because you can change the position of your bed
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8) The antonym of ‘confidence’ is '
(A) Disconfidence
(B) Misconfidence
(C) Diffidence
(D) Confession

9) James Grover Thurber would put his eye to the microscope and could see
only

(A) animal cells

(B) cells without structure

(C) a nebulous milky substance
(D) plant cells

10) Find the correct one from Harold Monro’s poem ‘Milk for the Cat’.
(AS The Cat keeps on staring the family members
(B) The Cat makes continuous painful cry
(C) The Cat leaps and drinks the milk as soon as possible

(D) The Cat stamps her claws or lifts her ears

11) The like some full moon descends at last from the clouds of the
table above.

(A) white saucer
(B) white dish
(C) white vessel
(D) white cup

12) And presently her agate eyes take a soft large milky haze. The figure of speech
in this line is :
(A) Metaphor
(B) Simile
(C) Onomatopoeia
(D) Litotes

JYD/01 (Old) 3 (P.T.0)



S-814

13) In worker’s paradise women whisper

(A) Let’s wait for none
(B) Let’s move on, time’s a-flying
(C) Let’s sit and paint the pictures
(D) Let’s help the idler

14) He was taken to task by busy farmers. (Select the correct meaning of the given
underline idiom).

(A) praised
(B) rebuked
(C) teased
(D) beaten

15) Being ;)niy a hampers me.
(A) medical man
(B) surgeon
(C) chemist
(D) doctor

16) The commuter does not enjoy his lunch break because

(A) It’s fish and chips, mince or potatoes
(B) It’s rice and chicken and tomatoes
(C) It’s sandwich with jam and cream

(D) It’s carrot yogurt soup with bread

17) Where does the commuter live?
(A) Near the river bank
(B) A house in the suburbs
(C) A bunglow in the village
(D) In the middle of the town
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18) has surveyed about noise pollution in the big cities like Bombay, Delhi
and Calcutta. ‘

(A) The Regional Physical Laboratory
(B) The State Physical Laboratory

(C) The National Physical Laboratory

(D) The International Physical Laboratory

19) Hearing is so crucial to learning that it cannot be ignored. (Select the correct
option using ‘t00’).

(A) Hearing is too crucial to learning to be ignored

(B) Hearing was too crucial to learning not to be ignored

(C) Hearing is too crucial that it could be ignored for learning

(D) Hearing was too crucial to learning that can be ignored
20) The a(ﬁ‘éctive form of ‘shadow’ is

(A) shadowy

(B) shade

(C) shading

(D) shadiness

21) The stapes is the smallest bone in the body. (Change into Comparative Degree.
Select the correct option).

(A) Very few bones are as small as stapes in the body

(B) The stapes was smaller than most other bone in the body
(C) The stapes is smaller than any other bone in the body
(D) The stapes is one of the smallest bone in the body

22) The writer will stanton remarked Roy’s teacher that
(A) she hasn’t proper knowledge of environment
(B) the woman is an ecological moron
(C) she doesn’t know anything about the compost heap

(D) she doesn’t take care of children
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23) Everything returns to earth and is reborn. (Select the correct question tag).
(A) doesn’tit?
(B) don’tit?
(C) didn’tit?
(D) isn’tit?

24) The poem “A Red, Red Rose” is written by
(A) Robert Frost
(B) Robert Tristram
(C) Robert Browning
(D) Robert Burns

25) “And I will come again, my luve,
"ﬁleugh it were }ten thousand mile.”
The figure of speech in this line is
(A) Metaphor
" (B) Hyperbole
‘ (C) Metonymy
(D) Synecdoche

26) “Why should one man have the lives of fifty in his hands?” who said these
words?

(A) Juan Patino
(B) Diego Garcia
(C) Francisco

(D) Guillermo Ires

27) The scene of the play ‘The Discovery” takes place on board
(A) the Santa Maria
(B) the Nina
(C) the Pinta
‘(D) the Scotia
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28)

29)

30)

31)

32)

33)

S-814
Columbus turns and goes up the stairs of the poop (Use “No sooner ..... than”.
Select the correct option).
(A) No sooner do Columbus turns than he go up the stairs of the poop
(B) No sooner did Columbus turn than he went up the stairs of the poop
(C) No sooner Columbus turned than he goes up the stairs of the poop
(D) No sooner does Columbus turn than he goes up the stairs of the poop

Mehmood, the kite-maker is nostalgic about
(A) his reputation throughout the city in the prime of his life
(B) his dead wife

(C) the abondoned mosque, where once lots of people came for offering
Namaz.

(D) about his son who stayed in Pakistan where he was at the time of partition

The.noun form of ‘human’ is
(A) Humane

(B) humanize

(C) humanity

(D) humiliate

In the poem ‘The Spider’, Spider is called ___
(A) a smart doctor

(B) famous architect

(C) an ancient scientist

(D) the greatest weber

“He has a jewel for a mind”. For whom does the poet use this expression?
(A) The Cat

(B) The Spider

(C) The Feller

(D) Jack Horner

Select the correct one about Miss Beam’s character.

(A) Simple, plain, kind but talkative

(B) Young, kind but authoritative and fashionable

(C) Middle-aged, authoritative, kindly and understanding
(D) Elderly, authoritative and strict
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34) In Egypt, girls used to be thrown into the river Nile

(A)
®)
©
D)

to please mother Nile
people believed in girl’s sacrifice
people believed that the birth of girl child was ill-omen

to please father Nile

35) He was punished for his greed. (Change the voice. Select the correct form).

(A)
(B)
©
(D)

They were punishing him for his greed
They punished him for his greed -
They have punished him for his greed

. They had punished him for his greed

-
N

=

36) What is there to fear? (Make it Assertive. Select the correct form).

(A)
B)
(®)
(D)

There was everything to fear
There is nothing to fear
There will be something to fear

There should not be everything to fear

37) “There comes a murmur from the shore”. What does the word murmur suggest?

(A)
(B)
(®)
(D)

Sound of the wind passing through the bushes
Sound of waves that are beating the seashore
Whispering sound of the people

Singing sound of the bird sea-gull

38) In the poem ‘A garden by the sea’ the boughs are without

(A)
(B)
(®)

apples
straw-berries

bananas

(D) jack-fruits
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39) cannot hold back progress because of fear of what world will do
with his discoveries.

(A) An engineer
(B) A mathematician
- (C) A doctor

(D) A scientist

40) When lethal heat wave in Arizona killed more than 20 people in one week, the
culprit was

(A) forest fire
(B) volcanic eruption
(C)f global warn;ing

(D) atmospheric pressure

41) ‘Hibakusha’ means the bomb victims of ___ .
(A) Tokyo and Shanghai
(B) Shanghai and Beijing
(C) Korea and Taiwan

(D) Hiroshima and Nagasaki

42) What do you mean by the expression ‘King for a day’ in the poem ‘The Guy in
the Glass’?

(A) A person who receives honour just for a day
(B) A person who is responsible just for a day
(C) A person who become happy just for a day

(D) A very successful person for a limited span of time
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43) In the poem ‘The Guy in the Glass’, the “feller’ 1s _ .
(A) our close friend
(B) wife

(C) our father and mother

(D) our conscience

44) The 19" century who put Darjeeling on the map, saw it from the start
as a sanatorium.

(A) Welshman
(B) Britisher
(© ﬁ:rgcrican
(D) Australian
¢
'45) In Darjeeling greet you at the top.
(A) Little children
(B) Little people
(C) Priests

(D) Giggly Indian girls

46) Ivan Dmitritch imagined his wife in the train with multitude of
(A) parcels, baskets and bags
(B) medicines, biscuits and fruits
(C) books, apparels and purses

(D) edible items, chocolates and cold drinks
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47) If she won it, she would give me a hundred roubles. (Use ‘unless’. Select the
correct option).

(A) Unless she won it, she would give me a hundred roubles ’
(B) Unless she wins it, she will give me a hundred roubles
(C) Unless she didn’t win it, she would not give me a hundred roubles

(D) Unless she won it, she would not give me a hundred roubles.

48) How many years have elapsed since the poet first took a view of the Poplar
field?

(A) Ten years
(B) Twelve years
(C) Thirteen years

(D)\' Fourteen years

49) “My fugitive years are all hasting away,
And I must ere long lie as lowly as they.”
Select the correct title and the poet of the poem.
(A) A Garden by the Sea — William Morris
(B) The Poplar Field — William Cowper
(C) Piano-D. H. Lawrence
(D) The Guy in the Glass — Dale Wimbrow

50) Socrates was chosen as the by the oracle.

(A) notorious criminal
(B) heretic
(C) intruder

(D) wisest Athenian
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(MARCH, 2019)

(Old Course)
(Part - B)
Time : 2 Hours] [Maximum Marks : 50
Instructions :
1) Write in a clear hand writing.
2) There are four Sections in Part - B of the question paper and total 1 to 18
questions are there. :
3) All the questions are compulsory. Internal options are given.
4) The numbers at right side represents the marks of the questions.
5) Start new Section on new page.
6) Maintain sequence.
- SECTION - A

H Answer the following questions in about five to six sentences each.
[Each of 2 marks] [8]

1))

2)

_3)

4)

What made Miko think that minding sheep was such a ‘dead end job’?

Why does Columbus call his tongue his ‘worst enemy’?

In what way Miss Beam’s school differs from the regular traditional
school?

Why did Ivan Dmitritch think his wife would begrudge him everything?
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E  Turn the following into Indirect Narration: [Each of 1 mark] 2]

S) “They all promised to save it for me in the future.” said the author.

6) “Do you remember seeing the Egyptian mummies in 'the British Museum
in London?” I asked them.

B Combine the following sentences: 2]

7) Einstein wrote his famous transformation equation. It was written in 1905.
He was not thinking of the atomic bomb.

L
=

SECTION -B

B ' Answer the following questions in about three to four sentences each:
[Each of 2 marks] v [6]

. 8) Describe the commuter’s morning routine till he reaches his office.

9) What is the theme of the poem ‘The Spider’?

10) Justify the title of the poem “The Guy in the Glass™?
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B Answer the following questions in about four to five sentences each:
[Each of 2 marks] [4]

11) Describe the wonderful courtship danceé of the scorpions.
12) What would Hellen Keller do if she became the President of a University?

13) Read the following poem carefully and answer the questions given below: [3]

Up! Up! my friend and clear your looks,
:Why all this toil and trouble?

W‘:Up! Up! my ifriend and quit your books,
Or surely you’ll grow double.
Books! ’tis a dull and endless strife,
Come, hear the woodland linnet,
How sweet his music on my life.
There’s more of wisdom in it.
Enough 0f science and of art;
Close up those barren leaves;
Come forth, and bring with you a heart,

That watches and receives.

Questions:
1) Why does the poet regard only reading books ‘a waste of energy’?
2) Why is the linnet said to be wise?

3)  What does the poet compare the pages of a book to?
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SECTION - C

 14) Read the following passage carefully and answer the questions given
below it: [5]

Man is the architect of his own fate. If he makes a proper division of
his time and does his duties accordingly, he is sure to improve and prosper
in life, but if he does otherwise, he is sure to repent when it is too late, and
he will have to drag a miserable existence from day to day. To kill time is
as culpable as to commit suicide, for our life is nothing but the sum total
of hours, days and years. Youth is the seed time of life. In youth the mind
is pliable and soft and can be moulded in any form we like. If we lose the
morning hours of life we shall have to repent afterwards.

Questions:

1) How can man succeed in his life?
2) \3&"hat would happen if man fails to use his time properly?
3) Why is killing time compared to suicide?
4) Why is youth said to be the seed time of life?
5) Suggest a suitable title for the passage.
“OR

Make a precis by reducing the passage into one third of its size and give
a suitable title to it.

15) Your school has organised a ‘Nature camp’ to Kilad near Vaghai in Vansda
Taluka. Draft a notice for the school board, inviting the students to
participate. [3]

OR

Write an e-mail to your friend telling him of the teacher you like the most
in the school where you are studying.
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16) Write a report on ‘Inter-school’ elocution competition organised by your
school on the subject “Save the girl child”. : [5] B

OR

You are Vaibhav Sharma. You have recently witnessed a house on fire in
your street. Write a diary entry on your observation.

OR

You have recently participated in the blood-donation camp held in your
town. Make a note of all that you had observed there.

SECTION -D

17) Write a letter to the editor of the newspaper about stray dogs and such
other pub‘lic_;l nuisances on the road and footpaths in your city. [4]

18) Write an essay on any one of the following in about 200 words: [8]
' 1) Knowledge is life, Ignorance is death.

2) IfIwina lotiery.

3) Science is a good slave but a bad master.

Dk el el
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